W4ETO

B L 23 AR RS 114 S5 ErE L grig 4 228
Ry 2120 S IR AMBEIHELE

Vo

kB EBPE XA

EEFER

LARARL S > 5820 5 > £ 100 4 -
AL LSRR R L ERBIES T L L ELL
3EMBERABAELEEZEEMNEL > BAARTFHS o

1

(a) Determine the equivalent capacitance for the circuit below. (10%)
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(b) Determine the equivalent inductance at terminals a-b of the circuit below. (10%)
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(a) For the circuit shown below, obtain the Thevenin equivalent at terminals a-b. (10%)
(b) Find the maximum power deliverable to Ry. (10%)
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3. Find iy, i3, i3, and i in the following circuit. (20%)
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4. For the circuit shown below, calculate Zr and I. (20%)
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5. Consider the circuit below. Use the Laplace transform to find the value of the voltage across
the capacitor assuming that the value of v (t) =10u(t) V and assume that i (0)=-1A
and v (0) =+5 V. (20%)
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